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Question Shuffling Allowed : Yes
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Question Number : 1 Question Id : 2549896988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following virus can access computer memory and sit dormant until a payload is delivered?
Options :

1. % Resident

2. % Browser Hijacker

3. ® Web Scripting

4. % File Infector

Question Number : 1 Question Id : 2549896988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frfiad & @ PH-91 IIRY SR AHR 6 TaT IR Jobdl ¢ 3R U Jars fadaikd gn de Fisg g g2
Options :

1.+ RS

2. % STIOR GIRoIPY

3. % 99 f&piPT

4, % BI3d 3haR

Question Number : 2 Question Id : 2549897260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following commands prints the absolute path name of your current working directory in Linux?
Options :

1. % pwd

2. ® dev

3. & mkdir

4

. ® rmdir

Question Number : 2 Question Id : 2549897260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

- HHrS fore (Linux) T 3t ?ﬂqaﬁv_"[ SR & q:Uf TY ATH (absolute path name) flie prare?
Options :

1. % pwd

2. & dev

3. % mkdir

4

. % rmdir

Question Number : 3 Question Id : 2549897864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
What does SQL stand for?
Options :
1. % Structured Query Language
2. #® Strong Question Language
3. % System Query Language
4. % Sort Query Language

Question Number : 3 Question Id : 2549897864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THHRA (SQL) BT gl &0 182

Options :

1. » E?EKC:‘C H A (Structured Query Language)
2, = E’T:‘T Hy A (Strong Question Language)
3. % Ren & dad (System Query Language)

4. % ¢ B A (Sort Query Language)

Question Number : 4 Question Id : 2549898449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following functions in MS-Excel converts a date in text format to a serial number that MS-Excel recognises as a date?
Options :

1. % TEXTDATE

2. % DATENUM

3. & DATE

4. % DATEVALUE

Question Number : 4 Question Id : 2549898449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS-Excel § FAfIREd # § H1H-91 thavH, TRe Hific § Tdh dRIG $1 Th IRad AeR & Jaadl ¢ ol MS-Excel T TR & ¥4
& UgaHdl 82

Options :

1. ® TEXTDATE

2. % DATENUM

3. & DATE

4. % DATEVALUE

Question Number : 5 Question Id : 25498911568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The most common method of entering text and numerical data into a computer system is through the use of a:
Options :

1. % keyboard

2. % scanner

3. ® printer

4. % plotter

Question Number : 5 Question Id : 25498911568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHeR Ren T T 3R WRATHS ST Gof B BT JaY 3MH AehT fhads IUTNT & A1y 3§ 82
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Options :
1. # BlarS
2. & WHR
3. % fiR
4. % WeR

Question Number : 6 Question Id : 25498912013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One megabyte is equal to approximately
Options :

1. % 1000 bits

2. % 1000 bytes

3. %" 1 million bytes

4. % 1 million bits

Question Number : 6 Question Id : 25498912013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U AR A SRR e gl
Options :

1. % 1000 facy

2. % 1000 §1§CH

3.+ | Taferg a1se™

4, ® | forferg faeg

Question Number : 7 Question Id : 25498912051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the name of the process that is used to convert a series of instructions in the high-level language (or a program) that can be run on a
computer?

Options :

1. = Assembling
2. % Compiling

3. % Loading

4. % Uploading

Question Number : 7 Question Id : 25498912051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T Ui T T 1 ¢ FOrehT STTIT S =g HIWT (31 U W) & FE= o) Ueb 9Raet ! ufafdd e 3 forg fpan Srar @
O R R AT o Jebell 82

Options :

|, ® THEeT

2. o SIS

3. & AT

4, ® UATET

Question Number : 8 Question Id : 25498930229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which type of disc is a Blu-ray Disc?
Options :
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1. & Laser
2. % Optical
3. ® Mechanical

4. % Electrical

Question Number : 8 Question Id : 25498930229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

G_Q:L-i' (Blu-ray) &% o UdhR ot fewm %‘?
Options :

1. % TR

2.+ BT

3. % gifdd

4. % faqga

Question Number : 9 Question Id : 25498930645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a mixed bus containing the control lines, representing commands to different units to perform actions, as well as status lines,
representing condition bits supplied by the external units to CPU.

Options :

1. ®= Address bus
2. % Control bus
3. & Data bus

4. % Instruction block

Question Number : 9 Question Id : 25498930645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
W&I‘mﬁaﬁ%mﬁﬁww (control lines) qu‘m'cﬁ%, ﬁi@mﬁ?m&ﬁﬁqyrmﬁéi%qﬁf‘wmﬁ 3T &t
§, 3T 1Y & RUFY X@MY (status lines) TTS ST &, S ITEX SH13AT §RT CPU BT Woll o1 arat fRUFT fed (condition bits) T
BRSEUERGI]
Options :
|, % g9 &Y
2w held 59
3. % gTEy
4, % ITRCHR sld

Question Number : 10 Question Id : 25498930991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the role of RS pin in LCD?

Options :

1. * Used for controlling LCD contrast

2. % Used to send information to the LCD

3. % To select command code and data registers

4. % Used by the LCD to latch information presented to its data pins

Question Number : 10 Question Id : 25498930991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

LCD H RS foF &1 YfirepT Bielt 82

Options :
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1. % LCD PicRe FRfd #xA & e ugad g1t g
2. % LCD & gaT (e Ao & fre uged gt ]
3.+ HUTS B 3R ST IR HT I99 I3 & e ygad gt g
4. % 30 ST U H TRgd ISR &I od HA & AT LCD RT WIS g1l gl

Question Number : 11 Question Id : 25498933070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Puck is slang used to describe the that was included with the original Apple iMac.
Options :

1. % round mouse

2. % floppy

3. ®CD

4. % USB drive

Question Number : 11 Question Id : 25498933070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U (Puck) U& WiTT § FoTemT IUaiT 39 1 quiF R P fere fovam oirar & S/ ga Apple iMac & T RfEa fava 7mam o |
Options :

1. # 38 HISY (round mouse)

2. % TRATGT (Floppy)

3. % CD

4. % USB 3134

Question Number : 12 Question Id : 25498933197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The base or radix of the binary number system is
Options :

1. %6

2. %10

3.% 2

4. % 4

Question Number : 12 Question Id : 25498933197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR TR Red &7 YR (@) a1 Yefieb (FSa) g gl
Options :

1. %6

2. %10

3.9 2

4. % 4

Question Number : 13 Question Id : 25498933868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following types of graphics card memory supports block writes and write-per-bit, which gives better performance of graphics
card?

Options :
1. # VRAM
2. % SGRAM
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3. &% DRDRAM
4. = SDRAM

Question Number : 13 Question Id : 25498933868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T A H1H-H! Ao HTS FHRY, Thad HTS BT JgaR IRBIHE ¢ aTdl sl 3¢ 3R I3-TR-IT I GUIE el 52
Options :

1. ¥ VRAM

2. % SGRAM

3. % DRDRAM

4. % SDRAM

Question Number : 14 Question Id : 25498934056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an expansion card or IC for producing sound on a computer that can be heard through speakers or headphones?
Options :

1. % Sound card

2. % Network card

3. ® Tuner card

4. % Interface card

Question Number : 14 Question Id : 25498934056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHYR R G I FA & o FHfaRad T § H1H-91 T fadR 18 a1 1¢ 8 o Thesr a1 g% I & ATead J AT S bl 82
Options :

1. ¥ AISS Bl

2. & 92ah Bls

3. & TR BIS

4. % IRGBIPIS

Question Number : 15 Question Id : 25498934850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a raster scan system, the frame buffer memory area holds the set of for all the screen points.
Options :

1. % intensity values

2. % resolutions

3. ® scanning instructions

4. % drawings

Question Number : 15 Question Id : 25498934850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR W ey , A a0 AART &, it wpi figaeit & fre T e G (FIes BdN) B
Options :

1. % diterdl 7

2. % Reilegg=

3. ® Wi Y (g TReaRm)

4. % QIR

7/38



06/03/2023, 12:17

Question Number : 16 Question Id : 2549898166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The allows you to specify how many invalid logins can occur before locking the account.
Options :

1. % access control list

2. & reset account lockout

3. %" account lockout threshold

4. % account lockout duration

Question Number : 16 Question Id : 2549898166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3{TUhHY Tg T B 1 FfawT a1 B fob fram 313y A= & a1e; WraT @il ST
Options :
1. & mﬁuﬁmﬂ?ﬁ (access control list)
2. % YT Wil AlH 33 (reset account lockout)
3. % Tl AHHTIC YRS (account lockout threshold)
4, & GIdl AHATIC A (account lockout duration)

Question Number : 17 Question Id : 2549898379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In UNIX, is the first process started during booting of the computer system.
Options :

1. * init

2. & kernel

3. " GRUB

4. % NTLDR

Question Number : 17 Question Id : 2549898379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e Ugel ufehar § S egex Yumel 1 §f¢T % SR IR gl B
Options :

1. * init

2. % kernel

3. % GRUB

4. % NTLDR

Question Number : 18 Question Id : 2549899444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a hardware?
Options :

1. * Printer installation setup

2. % A printer

3. & A word document to print

4. %= An image to print

Question Number : 18 Question Id : 2549899444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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frafefed # § HH-91, TP s8R 82
Options :

1. % flfex SeraiRE Yes™

2. % T i}

3. % flig A & oI T 98 SiagHc
4. & e v & fu 3o

Question Number : 19 Question Id : 2549899463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is a language processor?
Options :

1. % Interpreter

2. % Excel

3. * Paint

4. % Windows

Question Number : 19 Question Id : 2549899463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafefad #  H-91, Ty TR 82
Options :

1. ¥ $EUXR

2. % T

3. %5 TC

4. % fdSia

Question Number : 20 Question Id : 2549899620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Parallel port is part of the

Options :

1. ® processor

2. % motherboard

3. % memory

4. ® cabinet

Question Number : 20 Question Id : 2549899620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FHIR UIE et 4T 82

Options :

1. % IR &1

2.« UEREIS B

3. % HART B

4. % PG HT

Question Number : 21 Question Id : 25498910784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Offset printing is based on the fact that and water do NOT easily mix.
Options :

1. & ink

9/38



06/03/2023, 12:17
2. % paper
3. % oil

4. % soy

Question Number : 21 Question Id : 25498910784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e fifdnsgaumenuiag e iR Ut st § fif¥a e el g
Options :

1. % wrgt

2. % BN

3. % dd

4, % 1

Question Number : 22 Question Id : 25498911127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the difference between impact and non-impact printers?

Options :

1. % Impact printers are silent compared to non impact printers.

2. % Impact printers harvest better quality than non-impact printers.

3. % Impact printers make direct contact with paper whereas non-impact printers do not.

4. % Impact printers are smoother than non-impact printers.

Question Number : 22 Question Id : 25498911127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Z0de 3R A-304c fife} & A 7 3R 82

Options :

1. % A1-30q fiicx] & goea 8§ g0 e ia gid 5|

2. % A1-309e B & Hepraal # hae fUex P g &1 [urax SgR gl |
3.+ S0ae fifex P T Ugel Judh IR & Sae A-30dc iR el & o
4. % F17-309¢ fiie & gapraa & hae fiier 3ifie Yare g &

Question Number : 23 Question Id : 25498913451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is considered the best MP3 encoder at mid-high bitrates and at VBR.
Options :
1. % FAME
2. % LAME
3. # NAME
4. % SAME

Question Number : 23 Question Id : 25498913451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P A9-3 feeied 3R VBR H YIIY MP3 ThISI HHT A1 & |
Options :

1. ® TH (FAME)

2. % TH (LAME)

3. % 99 (NAME)
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4. ® 99 (SAME)

Question Number : 24 Question Id : 25498913475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an audio file format?
Options :

1. % AAC

2. % JPEG

3. & AVI

4. ® FLV

Question Number : 24 Question Id : 25498913475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

A ¥ o, 1@ Sifedl bied Ted o7
Options :

1. % AAC

2. ® JPEG

3. % AVI

4. ® FLV

Question Number : 25 Question Id : 25498918490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How is the default printer changed?

Options :

1. % Start -> type ‘printer’ in the search box -> click printer and faxes (Devices and Printers) -> right click on the selected printer ->
choose ‘Set as a default printer’

2. % Control panel -> type ‘printer’ in the search box -> click printer and faxes (Devices and Printers) -> right click on the selected printer
-> choose ‘Set as a default printer’

3. & My Computer -> type ‘printer’ in the search box -> click printer and faxes (Devices and Printers) -> right click on the selected printer
-> choose ‘Set as a default printer’

4. ® Start -> type ‘printer’ in the search box -> click printer and faxes (Devices and Printers) -> right click on the selected printer ->
choose ‘First choice printer’

Question Number : 25 Question Id : 25498918490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fEwpiee fiieR 3 H gga a3

Options :

1. " Start-> T d16g & ‘printer’ CISU > printer and faxes UX fFa® B (devices and printers 'ﬁf)-> g fifex R e faad % -
> ‘Set as a default printer’ D ?:ﬁl

2. & Control panel-> e IR ‘printer’ CIgY PN > printer and faxes UX faa® B (devices and printers ﬁ)-> Fgfd e I
fda® B > “Set as a default printer’ 3l ﬂaﬂ

3. ¥ My computer-> I Siea o ‘printer’ CIRU B > printer and faxes UX fadd B (devices and printers ff)-> g flier ;R 18
faeieh B -> “Set as a default printer’ DI ﬂefl

4. ® Start-> T d1ag o ‘printer’ CISU PN > printer and faxes UX fFa® &< (devices and printers ﬁ)—> I flier IR 13 foetad b -
> ‘First choice printer’ Eal ﬂefl

Question Number : 26 Question Id : 25498921932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
algorithms use one key for encryption and another for decryption.
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Options :
1. ®= Secret
2. # Personal
3. & Shared
4. % Public

Question Number : 26 Question Id : 25498921932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ U@ENRym, TR & fore flt te ront &1 SR fEform & fore foreht gt groht 1 Suai axar g1
Options :

1. &% It (Secret)

2, = W(Personal)

3. ¥ ggYTSH (Shared)

4.« ATASIE (Public)

Question Number : 27 Question Id : 25498922693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following ways help resolve the common problem of Ethernet NOT working?
Options :

1. % Enable the Ethernet Network Adapter from the Device Drivers

2. % Enable Bluetooth network connection

3. ® Enable wireless network connection

4. % Enable VMware Network adaptor

Question Number : 27 Question Id : 25498922693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YT HTH 78] B TeT § I I JHAT 1 86 B3 § FEferiad & ¥ HH-91 alieT Aeg Hdl 82
Options :

1. « fSa3y S2ay ¥ S2URAT Acadh TSR &I TG (Enable) B

2. % Y ATdD BRI B TATd B

3. ¥ GRIRAY Jedd HIaR Bl Tad by

4. ® VMIWR AP TSTPR Bl TATd B

Question Number : 28 Question Id : 25498924447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a Device Management system call of UNIX?
Options :

1. % joctl()

2. % read()

3. &% write()

4. % copy()

Question Number : 28 Question Id : 25498924447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
9 ¥ ¥ SH-91, gART (UNIX) &1 U fSargy s Ried $id A8l 82
Options :
1. = ioctl()
2. % read()
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3. & write()
4. % copy()

Question Number : 29 Question Id : 25498925416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a type of waveform distortion?
Options :

1. % Harmonics

2. # Interharmonics

3. % Notching

4. % Sound

Question Number : 29 Question Id : 25498925416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9§ Q H-91, T RIRY faequn (Jawhid fE$eRe) &1 UhR 8l 82
Options :

1. % grafe

2. & R g

3. ® R

4. G

Question Number : 30 Question Id : 25498927437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What does SMPS stand for?

Options :

1. % Simple Mode Power Supply

2. % Switched Mode Power Supply
3. % Service Mode Power Supply

4. % Single Mode Power Supply

Question Number : 30 Question Id : 25498927437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SMPS &1 fawaTid &4 &1 52

Options :

1. % Simple Mode Power Supply (ﬁiua e ufaR 1r'l'lffl'l_g)
2. % Switched Mode Power Supply (]%t_e' e u"mwrvrrs‘)
3. #% Service Mode Power Supply (m s gia F@ﬂé)
4. % Single Mode Power Supply (ﬁmﬁ s glax H'Tﬂ_ﬁt)

Question Number : 31 Question Id : 2549896726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A user hastoenter  in the address bar at the top of the browser window to navigate any website.

Options :

1. % PPT

2. % URL

3. B WWW

4. %= HTML
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Question Number : 31 Question Id : 2549896726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

foraht +ft JeaTse Y AfaTe B & g, IwaNTEdl B TSR ST F M R R/Ya @@ arR T g gl gl
Options :

1. ® PPT

2. % URL

3. B WWW

4. % HTML

Question Number : 32 Question Id : 2549896737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to E-mail, spams are related with which of the following?
Options :

1. ®= Important messages

2. % Unwanted messages

3. ® Draft

4. % Mail sent by friends

Question Number : 32 Question Id : 2549896737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e ¥ o 3, D Pafifed 3 3 Rl gdfid 2
Options :

1. % Hgw@yul o= 9

2. 3aifesd TSR A

3. % g

4. % PRIl & GRT Aol 78 Hell &

Question Number : 33 Question Id : 2549896754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Company 'A' is selling the goods to company 'B' using the internet. What type of E-commerce are they doing?
Options :

1. % Business-to- Business (B2B)

2. # Customer-to- Customer (C2C)

3. ® Business-to- Customer (B2C)

4. % Customer-to-Business (C2B)

Question Number : 33 Question Id : 2549896754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HU A’ SeRAT BT YA FRPb HUA! 'B' &I AT oF a1 ¢ | I8 [T THR FT 3-H1H PR g1 82
Options :

1. «* faor9 ¢ foem9 (B2B)

2. & HEH ¢ DL (C20)

3. # OO € IR (B2C)

4. % PR ¢ faoH9 (C2B)

Question Number : 34 Question Id : 2549897659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is Mozilla Firefox?
Options :
1. % Browser
2. % Compiler
3. % Interpreter

4. % Translator

Question Number : 34 Question Id : 2549897659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TIT BRI &1 52

Options :

1. % SISO}

2. % HHIFR

Question Number : 35 Question Id : 2549897949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the given options represents the truthfulness of the following statements?
(1) Both FTP and TELNET are same layer TCP/IP protocol.
(i) UDP is a transport layer protocol.

Options :

1. % (i) — True, (ii) — True
2. & (i) — True, (ii) — False
3. % (i) — False, (ii) — True
4. % (i) — False, (ii) — False

Question Number : 35 Question Id : 2549897949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

feu e famedt § § S-u1 Fufifed Syt @ gadr &1 Ao $HRar g2
(i) FTP 3R TELNET GHI U g1 &R TCP/IP WeIdhId g |

(if) ISTGt (UDP) T TIUIE AR Ueiopidl g

Options :

1. % (i) - 9, (ii) - I

2. % (i) - 9, (ii) - 3

3. % (i) - 3, (ii) - 9

4. % (i) - 3, (ii) - A

Question Number : 36 Question Id : 2549898001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following operating systems is compatible with BHIM app?
Options :

1. * Linux

2. %" Android

3. % DOS

4. % UNIX

Question Number : 36 Question Id : 2549898001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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g 7 @ pH-3 siTRfe Red 1ig (BHIM) TU & 1Y 1A 82
Options :

1. & forag (Linux)

2. % USITS (Android)

3. # DOS

4. % gAY (UNIX)

Question Number : 37 Question Id : 2549899019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is an enterprise operating in several countries but managed from one home country.
Options :
1. & MPO
2. % MNC
3. % MNP
4. % MNO

Question Number : 37 Question Id : 2549899019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T ITH § Ol B3 T H BT BT § b fordhT FeieH frdl Th R S A gan o |
Options :
1. % MPO
2. % MNC
3. % MNP
4. & MNO

Question Number : 38 Question Id : 25498910429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Font group is present in tab.
Options :

1. % Home

2. % Insert

3. % Page Layout

4. % References

Question Number : 38 Question Id : 25498910429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
W<ygg I dHg eagl
Options :

I a‘q (Home)

2. & EFFI?f(Inscrt)

3. % U9 d3f3e (Page Layout)

4, & GBI (References)

Question Number : 39 Question Id : 25498910638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following options is NOT used in fine tuning line spacing in MS-Word 2016?
Options :
1. % At least
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2. & Multiple
3. % Exactly
4. % Triple

Question Number : 39 Question Id : 25498910638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafifed o @ SH-91 fased MS-Word 2016 H WA SIfT Az WRiT & IuanT 61 faar ST 82
Options :

1. ® Te foIRe (At least)

2. % dId (Multiple)

3. % Taidcal (Exactly)

4.« fCUd (Triple)

Question Number : 40 Question Id : 25498910734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to all devices, networking components, applications and systems combined, allowing people and
organisations (i.e., businesses, non-profit agencies, governments, and criminal enterprises) to interact in the digital world?

Options :

1. & Cloud Computing (CC)

2. % Database Management System (DBMS)

3. % Information and Communication Technology (ICT)
4. % Network Management System (NMS)

Question Number : 40 Question Id : 25498910734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafed & § F-ar, 9t SuaRil, SeafdT aeet, Syt iR yunfedl @ Tgad T § Yefid Har g, S A sk s
(ql:ﬁ , ogadry, TR-THBRY @m, WHRY MR RIS IIH (criminal enterprises)) 3! f&forea ‘g{ﬁm T TRER A/ aR
(interact) A P Wﬁ ol %?

Options :

1. % FISS Y[ (CC)

2. ® ST Y& YU (DBMS)

3. I 3R TR Wt (1CT)

4. ® Jegd G YU (NMS)

Question Number : 41 Question Id : 25498910744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
~ indicates:

Options :

1. & asterisks character

2. % caret character

3. * check marks

4. % en dash

Question Number : 41 Question Id : 25498910744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
~ 1 S AT 32

Options :

1. ® dRi% quf (asterisks character)
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2. % Waﬁ(caret character)
3. % I AR
4. % T ST

Question Number : 42 Question Id : 25498911472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The shortcut key for Research option in proofing tab is in MS-Word 2010 .
Options :

1. ® Alt+ Click

2. % F7

3. %" Alt + Shift + F7

4, & Ctrl + Click

Question Number : 42 Question Id : 25498911472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2010 H, , IS T (gfthT) &9 o Srgiem (R fadey & forg e gont 31
Options :

1. % Alt + Tl

2. ® F7

3. %" Alt + Shift + F7

4. % Ctrl + [Fap

Question Number : 43 Question Id : 25498911493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a part of the CPU of a computer?
Options :

1. % SRAM

2. % DRAM

3. % ALU

4. ® Motherboard

Question Number : 43 Question Id : 25498911493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 & ¥ -1, $EEI & CPU &1 T YT 82
Options :

1. % SRAM

2. % DRAM

3. % ALU

4. % AR

Question Number : 44 Question Id : 25498911832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In general, we reduce the line spacing to fit number of lines on the page in MS-Word 2016.
Options :

1. % more

2. ® less

3. ® the same

4. %= default
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Question Number : 44 Question Id : 25498911832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

M TR W, MS-Word 2016 H, GAYS R AR &1 T e A & e arg=1 Wit &) o7 $a B
Options :

1. % 3fH

2. & hyH

3. % qgl

4. % fgBlee

Question Number : 45 Question Id : 25498911974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following determines the appearance and orientation of the edges of the paragraph in MS-Word 2019?
Options :

1. % Alignment

2. % Change case

3. % Bulleting

4. % Numbering

Question Number : 45 Question Id : 25498911974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fafafad o @ SH-91, MS-Word 2019 5 TRTITE & fHIRT (edges) & fe@mde 3R ifufa=arg o fuffea sare?
Options :

1. -"W(Alignment)

2. ® ol hy (Change case)

3. # Al (Bulleting)

4, = '_‘iaﬁ_‘T(Numbering)

Question Number : 46 Question Id : 25498912509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the difference between endnote and footnote?

Options :

1. & The difference is the placement of each within a page of the document.

2. % Both are present at the bottom of the document.

3. % Footnote is located at end of the page and endnote is located at the end of the document.

4. ® The difference is the placement of each at the bottom of the document.

Question Number : 46 Question Id : 25498912509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Q':C'Fh_cr (endnote) 3R E’?:h? (footnote) & A &1 3R %?

Options :

1. % 3R SIagHc & U& U8 & HiaR TS &1 M g

2. ® g SIagHe & Fad Ui H Hiejg 81d & |

3.+ eAle U9 & ofd B fRyd giar 8 ok Tele Siagiic & ofd & fUd g g |
4. % R Sagic & A F YT T UAF &1 G ¢ |

Question Number : 47 Question Id : 25498913328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which of the following input devices allows computer users to input audio into their computers?
Options :

1. % OMR

2. % Microphone

3. & Keyboard

4. & Punchcard reader

Question Number : 47 Question Id : 25498913328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

frafafad # § PH-91 37Ye fSarsg duger SuanTGhdrsi & 3 hugeR # el 37 &3 3! 3gufd a1 82
Options :

1. ¥ OMR

2.+ HISHIBIA

3. ® Plale

4. & UgPpls A

Question Number : 48 Question Id : 25498919168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following operating systems is non-interactive?
Options :

1. % Batch processing operating system

2. ® Multiprogramming operating system

3. % Multi-user operating system

4. % Multitasking operating system

Question Number : 48 Question Id : 25498919168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e # 9 -, SffoRfeT Ren IRIRFRea 32
Options :

1.+ o9 TIARIT SifoRfe Rew

2. % AT STuRfd Ren

3. % Tecl-goR TR Ren

4. % ASITRBT TR ReH

Question Number : 49 Question Id : 25498920467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the name of the main page of a website where visitors can find hyperlinks to other pages on the site?
Options :

1. * Search engine

2. % Home page

3. % Browser

4. % Contact form

Question Number : 49 Question Id : 25498920467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frafiad § S H19-91 d9xTEe & T J§ &1 & Siel fafted &1, Wige R 31 98T & fo grewRfcie fird 9o 82

Options :
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1. % g 35
2. % H U
3. % FI¥R
4. % Blcde BIH

Question Number : 50 Question Id : 25498925521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A number, letter which are a little above from the normal line of type and is set slightly above it is called:
Options :

1. % subscript

2. % index

3. % superscript

4. % subfix

Question Number : 50 Question Id : 25498925521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T BT, 3H&R S Y P ST T SRS A2 ¥ UIST HW B 8 SR IUY 41T SHW e gidl 8, 98 T Hadldl 82
Options :

1. % Faf&pY

2. % IS

3. o JREPY

4. % qaithay

Question Number : 51 Question Id : 25498932158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to video conferencing?

Options :

1. % Video conferencing is an offline video-based meeting between two or more people in different locations.

2. % Video conferencing allows multiple people to meet and collaborate face to face through the internet.

3. & Video conferencing allows transmission of audio, video, text and presentations in real time through the internet.

4. % Video conferencing is a live video-based meeting between two or more people.

Question Number : 51 Question Id : 25498932158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&I PRI P Jasf # Faferiad & J iH-a1 77erd &2

Options :

1. o difSa IR faftrd R 8 & a1 &1 § i Al & oTd U Siithars aifsal-snumd HifieT g

2. % S HIHRAT B AT DY §eie b HIegH W - e 3R YedivT 3 Bt 3gufa ot 81

3. % dIfST SIVHRIT exe & AegH J IRAfdd Jra H Sy, difsal, e 3R wgfadt & TR & SAfd ST g |
4, % IS HIHRAT &l A1 &l ¥ AP AT & i T 15 a S al-SenRd HifT g

Question Number : 52 Question Id : 25498933778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The process of transferring files from FTP client to FTP server is called
Options :

1. % downloading

2. % uploading

3. # reloading
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4. ® executing

Question Number : 52 Question Id : 25498933778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FTP FATSC U FTP AR & WIgd RIMIART B B Uioha1 o1 IS
Options :

1. ¥ SIS

2. UAET

3. % QanfEn

4. % waiEf

READING COMPREHENSION

Section Id : 2549897059
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897100
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921115 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Fun with Family

Papa decided last Sunday that we should all go on a camping trip. He read an article in the Sunday paper about camping and how it ‘brings
families together when one spends time out with the nature’.

“Oh no!” I said. “I hope you are not serious.”
“This will be good for us,” Papa said, sliding the magazine across the coffee table. “Let’s go next weekend.”

I shot a quick look over at my younger brother, Zeya. He gave me a slow eyebrow raise which meant, “This will probably not go off
completely as planned.” My smile said, “But it will surely be fun.” It was that wicked smile that I had grown fond of.

I thought over all our previous experiences. Once Papa had decided that we should all learn how to canoe. Canoe is a light-weight narrow
boat. We borrowed two canoes from our friends, put them on the van and drove for three hours to a secluded lake in Nainital. Alone in the
middle of nowhere, we discovered that we had forgotten the paddles.

Zeya and I got in a canoe with Papa and our two younger sisters got in a canoe with Mummy. We floated aimlessly around the lake for
hours thanks to the paddle-less canoes! We pushed the canoes back to shore. It was a fantastic trip. We were happy that it was over.

Another time, Papa decided we should all learn how to ski. Since we are not really fond of the cold weather, we did not go out at all. We
spent the weekend huddled by the fire, drinking hot coffee in the ski lodge and playing ludo. It was great. We had a blast!

When I stopped daydreaming, Mummy was saying, “But, we don’t have a tent.”
“We don’t need one!” Papa said happily. “We’ll take all the seats out of the van when we get to the campsite and use the car space.”
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That was Papa, always happy and excited about having fun with the family.
Sub questions

Question Number : 53 Question Id : 25498921116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What did Papa decide to do last Sunday?
Options :

1. % Go on a camping trip

2. % Go canoeing

3. % Go on a picnic

4. ® Go skiing

Question Number : 54 Question Id : 25498921117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Why did they float aimlessly in the canoes?
Options :

1. % Because they were enjoying the sail
2. % Because they had no paddles

3. % Because they had no life jackets

4. % Because they had no boatmen

Question Number : 55 Question Id : 25498921118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following activities did the father NOT plan?
Options :

1. % Skiing

2. % Canoeing

3. % Camping

4. % Strolling

Question Number : 56 Question Id : 25498921119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After reading the passage, we can say that the father was:
Options :

1. % a daydreamer

2. % a fun-loving person

3. % an impractical man

4. % a foolish person

Question Number : 57 Question Id : 25498921120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When the father suggested that they go camping next Sunday, the family:
Options :

1. % was sceptical about his plans

2. % was excited about his plans

3. * thought it would be fun

4. % did not like the newspaper article

Question Id : 25498921115 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g7aT = U ATTR BT 1 B BT Bl fordT 12
Options :

1.« ST IR WA F7

2. % BT R SH B

3. % Uel® ER) WM F1|

4. % IPIZT R IE

Question Number : 54 Question Id : 25498921117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
J AIET U F e TR Y =l 382
Options :
Tl EN .
1. ® Fifds IAP! AT UG Tl
2.« Fifds I U I 751 A
3. % i 39 U AIRW e ol U1
4. % i 3P UM DIg AP ol ATl

Question Number : 55 Question Id : 25498921118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafed & @ F-8 7fafafd &1 dern fOar 3 781 srh o4t
Options :

1. % WIS

2. & BRI

3. % I

4. v gl

Question Number : 56 Question Id : 25498921119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Y UTS &1 U & dIG 89 68 Udhd g [ fudT:
Options :

1. % fa9 7 9uq @ ard A1

2. % T BT URiG R ardl fed Y|

3. % U HAGINS Afad d|

4. % U dapth fad d|

Question Number : 57 Question Id : 25498921120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S O = 81 {3 I 3Tt IAFIR Y BT 1R S, d uikaR:
Options :

1. % 3! TS DI Ah TRifdd UT|

2. % JAD! T TR AT T

3. # DI A o Ho ST

4. % D GHER U $T G TG T8 AT

QUANTITATIVE APTITUDE
Section Id : 2549897060
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897101
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the opiion that can replace the question mark {71 in the given equation.

(Tote: vou are ool sxpecled Lo caloulats the sxact valoe)

(32.050° — (18.9)F — (119)° -7
Options :
1. % 670
2. % 530
3. %420
4. % 780

Question Number : 58 Question Id : 25498914341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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T w9 ® w3 Riwa (7) & B 9 SEET T AT HIIT? (HTHERT WUTY A R 0T S
T FTEYIFAT e 2l

(3205 -89 - (119 =?
Options :
1. % B70

2.« B30
3 % 420

4 % 780

Question Number : 59 Question Id : 25498928993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a class, the average age of both male and female students together is 18 years. The total age of the 15 female students is 240. How many
male students are definitely there in the class?

Options :
1. %20
2. % 40
3. %30

4. % Data provided are inadequate to answer the question

Question Number : 59 Question Id : 25498928993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TE FE &, TF9 AUl Age meanud: & AtAw 3 18 7% §) 15 ARe Remtiw #rogw Ay 240 §
e F SftTs o e o et £

Options :

1. & 20
2. % 40

3. % 30

4w T T IeaT &+ o By A dem s #)

Question Number : 60 Question Id : 25498929004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that can replace the question mark (?) in the given equation.
(Note: you are not expected to calculate the exact value)
899.99 +45.012 =7 —224.488

Options :
1. % 185
2. % 395
3. % 295
4. % 245
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Question Number : 60 Question Id : 25498929004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fow o1e wuer # wesTRES (7) & TR ST SO A F4T g7 SipeT
(froquft. 3=y oE 79 & o I f AT FE E)

88999 +- 450712 =7—-224 488
Options :

1. &% 185
2. % 395
3. % 295

4. 245

Question Number : 61 Question Id : 25498929074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression?
(Note: you are not expected to calculate the exact value)
3899 +11.99 -2379+13.97="2

Options :
1. %= 125
2. %250
3. % 155
4. % 135

Question Number : 61 Question Id : 25498929074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FTafET v & wealEsd (7) & FUT 97 WO #1907 g9 TET? | HISH VE HE e
HTET=a F7ar £l

3899 = 11.99 - 2379 + 13.97 =7

Options :

1. ® 125
) % 280
3.4 155

4.% 135

Question Number : 62 Question Id : 25498929351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The ratio between the three angles of a quadrilateral is 3 : 5 : 9. The value of the fourth angle of a quadrilateral is 71°. What is the
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difference between the largest and the smallest angles of the quadrilateral?
Options :

1w 82
w106
3 & 102

4 % 92

Question Number : 62 Question Id : 25498929351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

UH TPHE & O Al W WS 30 50 8 B S % 9 ST e AW 710 3 ugme ¥ wes ad
st TR T SO E ST F R

Options :

1% B2

) % 106
3 102

4 % 92

Question Number : 63 Question Id : 25498929444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A 1 1 1 1 5
Ihe value of - + s it o e
AN IWANE AMEME  SMAMT
Options :
1

1.« 14

1
4 % 35

Question Number : 63 Question Id : 25498929444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1 ; i 1 1
= ——F -+ —— & A T R
S | axdxh dwhwg hwbB= [
Options :
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1. % 14

1
2. % 21

i
3. % 30

i
4. % 35

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549897061
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897102
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 64 Question Id : 25498912881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which letter in the word CYBERNETICS occupies the same position as it does in the
English alphabet?

Options :
1. %C
2. % E
3% 1
4, & T

Question Number : 64 Question Id : 25498912881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&G CYBERNETICS H H1H-9 31&R 1 fRuf a8t 8, S fRufay sifiit qufwren & g2
Options :

1. ®C

2. % E

3. ]

4. & T

Question Number : 65 Question Id : 25498919630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option with the quality/description common to the three given words.
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Stool, Table, Chair
Options :

1. ® Office

2. % Carpet

3. % Home

4. % Furniture

Question Number : 65 Question Id : 25498919630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 Ao &1 T B3 1 i U 7T Wecf & 1Y T UTaT BT I bRl g

@:éﬁﬁ:w
Options :

1. % 31y

2. % Tt

3. 8 WR

4. % TR

Question Number : 66 Question Id : 25498920365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the word-pair in which the two words share a different relationship from that shared by the two words in the rest of the word-pairs.
Options :

1. ® Metal : Ore

2. % Ghee : Milk

3. % Gasoline : Petroleum

4. % Soil : Earth

Question Number : 66 Question Id : 25498920365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

eal & $6 g AU MU 7, for IRt gl & wree v fAfda wmg ey A 9IS §U R | 98 T g foraw Wee fafte &0 § Jaifia |1
Options :

1. % ¥1q : 3Ih

2. % 9. gy

3. &% ﬁ@?ﬁ:{a@m

4. % TaT : gt

Question Number : 67 Question Id : 25498927853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

Pantry : Store :: Scullery : ?
Options :

1. % Cook

2. % Kitchen

3. #% Utensils

4. % Wash
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Question Number : 67 Question Id : 25498927853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugd 3l W3] & o BIS GaY 21 I Te! fdehey o1 T B3 orepT IR Teg I 391 €1 ey B

W:WW::aﬁqmﬁﬁwz?
Options :

1. ® grsar

2. % JURW
3. % §aA
4. % T

Question Number : 68 Question Id : 25498928162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, A is coded as 2, M is coded as 26, and Z is coded as 52. How will BET be coded in that language?
Options :

1. % 44

2. %" 54
3. % 64
4. %72

Question Number : 68 Question Id : 25498928162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T AT Fe T H, A B 2 F FAH, M B 26 F TUH 3R Z B 52 F ©U H Heds [Ha1 o1dl 8 | 3 U H BET B HY Hedx
fopam s

Options :

1. % 44

2. % 54
3. % 64
4, & 72

Question Number : 69 Question Id : 25498928296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the given pair of words.

Auger : Carpenter
Options :

1. % Cement : Mason
2. % Awl : Cobbler
3. % Apron : Chef
4

. ® Seam : Seamstress

Question Number : 69 Question Id : 25498928296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 & e rea) o1 NS BT TP GIR & 1Y U T ey g1 3 fahed o1 997 & ora! SISt &1 Jd shiet & 0 dae |

31 UIGR SRHT : 963
Options :
1. % e . fart

31/38



06/03/2023, 12:17
2.« TS U IRI% ©¢ & BT HicT : ikt
3. % QYA : 919
4. -‘-ﬁl?ﬂg:fﬂﬁﬂ

GENERAL AWARENESS

Section Id : 2549897062
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897103
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 70 Question Id : 2549895254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a joint venture?
Options :

1. % Maruti Suzuki Udyog Ltd.

2. % Hyundai Motor India Ltd.

3. ® Hindustan Motor Ltd.

4. ® Tata Motors Ltd.

Question Number : 70 Question Id : 2549895254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fofafed o 3 1 91 1 9ga ITH 52
Options :

1.« AR gl I ferfercs

2. ¥ g IR sfeyr faftics

3. % fggwaH AieR fafics

4. % TreT Hicy fafics

Question Number : 71 Question Id : 2549899964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following was NOT a signatory to the historic Poona Pact of 19327
Options :

1. % BR Ambedkar

2. % Madan Mohan Malviya

3. % C Rajagopalachari

4. % MK Gandhi

Question Number : 71 Question Id : 2549899964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
1932 1 QfcgTRIe g1 IfY IR g o 9 forem gaier =181 fhg &
Options :
1. % o 3R 3SR
2. & Ha HIgH AIedId
3. Il TSIy
4. % THSD TR

Question Number : 72 Question Id : 25498912770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which city did the Asian Games take place for the first time?
Options :

1. * Beijing

2. *% Kuala Lumpur

3. & Tokyo

4. % New Delhi

Question Number : 72 Question Id : 25498912770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gl aR TRATS Jdl &1 e 9 & § fry 2rex d gam um
Options :

1. % difeiT

2. % PIATATAYR

3. % TRl

4.+ 7% faelt

Question Number : 73 Question Id : 25498931998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which two cities of Madhya Pradesh found a place in UNESCO's World Heritage Cities list in December 2020?
Options :

1. *= Bhopal and Indore

2. % Jabalpur and Sagar

3. ® Dewas and Vidisha

4. % Gwalior and Orchha

Question Number : 73 Question Id : 25498931998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T USRI o fobeT &1 [ER1 I fadaR 2020 T oven! o1 fasy favTerd =gl &t it o =i fosam mam
Options :

1. & IO SR SR

2. & TEAYR 3R IR

3. % &9y SR fafgzn

4. IR 3R SRS

Question Number : 74 Question Id : 25498932132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pratibha Patil served as the President of the Republic of India?
Options :
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1. % 10th
2. % 11th
3. %" 12th
4. % 13th

Question Number : 74 Question Id : 25498932132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

GfaHT TTfed A YR TR & FYf b U H U+ YaTd Ya i
Options :

1. % 10d

% 11d

# 124

% 139

v

Question Number : 75 Question Id : 25498932566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following writs is a bulwark of personal freedom?
Options :

1. % Mandamus

2. % Habeas corpus

3. % Quo warranto
4

. # Certiorari

Question Number : 75 Question Id : 25498932566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

75 7 9 g =R S1ex &1 AfdaTd Wad & fofg U & Had HHT &iTd 67
Options :

1. % ORACY

2.+ §] TETHRUT

3. % YPR YT

4. % I

English Mock
Group Number : 2
Group Id : 2549894477
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549897063
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Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :
Maximum Instruction Time :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 76 Question Id : 25498941285 Question Type : TYPING TEST Display Question Number : Yes Calculator :

None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children

have fun during this process as they get to explore new arenas.
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Biogas is a type of biofuel that is naturally produced from the decomposition of organic waste. When organic matter such as food
scraps and animal waste break down in an anaerobic environment they release a blend of gases primarily methane and carbon
dioxide. Because this decomposition happens in an anaerobic environment the process of producing biogas is also known as
anaerobic digestion. Anaerobic digestion is a natural form of waste to energy that uses the process of fermentation to break down
organic matter. Animal manure and wastewater are some examples of organic matter that can produce biogas by anaerobic
digestion. High content of methane biogas is flammable and therefore produces a deep blue flame and can be used as an energy
source. Biogas is known as an environment friendly energy source because it alleviates two major environmental problems
simultaneously. The global waste epidemic releases dangerous levels of methane gas every day and the reliance on fossil fuel energy
to meet global energy demand. By converting organic waste into energy biogas is utilizing the elegant tendency of nature to recycle
substances into productive resources. Biogas generation recovers waste materials that would otherwise pollute landfills and
prevents the use of toxic chemicals in sewage treatment plants as well as saves money energy and material by treating waste on site.
Moreover biogas usage does not require fossil fuel extraction to produce energy. As opposed to letting methane gas release to the
atmosphere biogas digesters are the systems that process wastes into biogas and then channel that biogas so that the energy can be
productively used. There are several types of biogas systems and plants that have been designed to make efficient use of biogas.
While each model differs depending on input and output size the type of the biological process that converts organic waste into
biogas is uniform. Biogas digesters receive organic matter which decomposes in a digestion chamber. The digestion chamber is
fully submerged in water making it an anaerobic environment. The anaerobic environment allows for microorganisms to break
down the organic material and convert it into biogas. Because the organic material decomposes in a liquid environment nutrients
present in the waste dissolve into the water and create nutrient rich sludge typically used as fertilizer for plants. This fertilizer
output is generated on a daily basis and therefore is a highly productive by product of anaerobic digestion. Biogas can be produced
with various types of organic matter and therefore there are several types of models for biogas digesters. Some industrial systems
are designed to treat industrial wastewater and municipal solid waste or agricultural waste. Small scale systems are typically used
for digesting animal waste. And newer family size systems are designed to digest food waste. The resulting biogas can be used in
several ways including gas or electricity. They can also be used as heat and transportation fuels. Small scale or family size biogas
digesters are most frequently found in India and China. However the demand for such units is growing rapidly throughout the
world thanks to more advanced and convenient technologies such as Home Biogas. As the modern world is producing more and
more waste individuals are eager to find ecologic ways to treat their trash. Traditional systems typically found in India and China
focuses on various kinds of animal waste.
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